Caspian Journal of Mathematical Sciences (CJMS) University of Mazandaran, Iran http://cjms.journals.umz.ac.ir ISSN: 2676-7260

CJMS. **11**(1)(2022), 89-97

(Research note)

## Golden numbers

Yamin Sayyari <sup>1</sup> <sup>1</sup>Sirjan University of Technology, Sirjan, Iran

ABSTRACT. The golden ratio  $\phi = \frac{1+\sqrt{5}}{2} = 1/61803398874...$  is the root of the polynomial  $x^2 - x - 1 = 0$ , and is the one of the important numbers in mathematics. The golden ratio is also used in many fields of science. The golden ratio appears in some patterns in nature, including the spiral arrangement of leaves and other plant parts. In this paper, we present a sequence of golden numbers  $\{\phi_n\}_n$  and study their properties.

Keywords: Golden ratio, Polynomial, Golden numbers, Golden polynomials.

2020 Mathematics subject classification: Primary 11C08; 26C05; Secondary 26A06.

## 1. INTRODUCTION

The golden ratio is a special number equal to  $\phi = \frac{1+\sqrt{5}}{2}$ . It appears many times in geometry, art, architecture and other areas. Mathematicians since Euclid have studied the properties of the golden ratio, including its appearance in the dimensions of a regular pentagon and in a golden rectangle, which may be cut into a square and a smaller rectangle with the same aspect ratio. The golden ratio has also been used to analyze the proportions of natural objects as well as man-made systems such as financial markets.

89

<sup>&</sup>lt;sup>1</sup>Corresponding author: ysayyari@gmail.com Received: 30 June 2019 Revised: 05 July 2020 Accepted: 07 July 2020

**Definition 1.1.** Let  $n \ge 2$  be a natural number. We define the golden polynomials  $g_n(x)$  by

$$g_n(x) = x^n - \sum_{k=0}^{n-1} x^k.$$

Let  $G_n(x) = (x-1)g_n(x) = x^{n+1} - 2x^n + 1$ . It is easy to see that the roots of the polynomial  $g_n(x)$  are the roots of the polynomial  $G_n(x)$ else 1. We have  $G'_n(x) = x^{n-1}((n+1)x - 2n) = 0$ , so  $x = 0, x = \frac{2n}{n+1}$ are the roots of  $G'_n$ .



FIGURE 1.  $y = G_n(x)$ 

4, if n = 2k then  $G_n(x)$  has only three real roots 1,  $\phi_n$  and  $\psi_n$  such that  $1 < \phi_n < 2$  and  $-1 < \psi_n < 0$ , and if n = 2k + 1 then  $G_n(x)$  has only two real roots 1 and  $\phi_n$  such that  $1 < \phi_n < 2$ , for every  $n \in \mathbb{N}$  [see figure ??]. Hence if n = 2k, then  $g_n(x)$  has only two real roots  $1 < \phi_n < 2$  and  $-1 < \psi_n < 0$  and if n = 2k + 1, then  $g_n(x)$  has only one root  $1 < \phi_n < 2$ . We call  $\phi_n$  the n'th golden number for every  $n(n \ge 2)$ .

## 2. Golden polynomials

In this section we studied the properties of the golden polynomials and golden numbers.

Remark 2.1. Let  $n \geq 2$  be a natural number and  $g_n(x)$  be the golden polynomial, then

(1)

$$g_n(-1) = \begin{cases} 1 & n = 2k \\ -2 & n = 2k+1 \end{cases}$$
(2)  $g_n(0) = -1 < 0, \ g_n(1) = 1 - n < 0, \ g_n(2) = 1 > 0.$ 

Golden numbers

- (3) If n = 2k then  $g_n(x)$  has only two real roots  $1 < \phi_n < 2$  and  $-1 < \psi_n < 0.$
- (4) If n = 2k + 1 then  $g_n(x)$  has only one root  $1 < \phi_n < 2$ .
- (5) For every  $n \in \mathbb{N}$ ,  $n \ge 2$ ,  $\frac{2n}{n+1} < \phi_n < 2$ , thus  $\lim_{n \to \infty} \phi_n = 2$ . (6) The sequence  $\{\psi_{2n}\}_n$  is a decreasing sequence and  $\lim_{n \to} \psi_{2n} =$ -1.

**Lemma 2.2.** Let  $n \ge 2$  be a natural number. If  $\phi_n$  is the n'th golden number, then

(1) For every  $n \in \mathbb{N}, n \geq 2$ 

$$\phi_n^n = \sum_{i=0}^{n-1} \phi_n^i$$

(2) Let  $n \ge 2$  be a natural number

$$\phi_n^{n+k} = \sum_{i=0}^{n-1} \phi_n^{i+k},$$

for every  $k \in \mathbb{N}$ .

(3) For every  $n \in \mathbb{N}$ ,  $n \geq 2$ 

$$\phi_n = \sum_{i=0}^{n-1} \frac{1}{\phi_n^i}, \text{ and } \sum_{i=1}^n \frac{1}{\phi_n^i} = 1.$$

(1) Since  $\phi_n$  is the root of the polynomial  $g_n(x)$ ,  $\phi_n^n = \sum_{i=0}^{n-1} \phi_n^i$ Proof.  $\forall n \ge 2.$ 

- (2) Multiply  $\phi_n^n = \sum_{i=0}^{n-1} \phi_n^i$  by  $\phi_n^k$  to obtain the equality  $\phi_n^{n+k} = \sum_{i=0}^{n-1} \phi_n^{i+k}$ .
- (3) By the use of part (1), it is easy to see.
- (4) By the use of part (1), it is easy to see.

**Lemma 2.3.** Let  $n \geq 2$  be a natural number and  $g_n$  be the golden polynomial.

(1) If  $x \neq 2, 0$ , then  $\frac{g_{n+1}(x) - g_n(x)}{g_n(x) - g_{n-1}(x)} \equiv x$ , for every  $n \ge 2$ . (2) If  $x \neq 2, 0$ , then  $\lim_{n \to \infty} \frac{g_{n+1}(x)}{g_n(x)} = x$ . (3) If  $n \ge 3$ , then  $g_{n+1}(x) = (x+1)g_n(x) - xg_{n-1}(x)$ (4) If  $n \geq 2$ , then . n 1

$$g_n(x) \equiv \begin{cases} x^n - \frac{x^n - 1}{x - 1} & x \neq 1\\ 1 - n & x = 1 \end{cases}.$$

*Proof.* (1) Let  $n \ge 2$ . We have

$$\frac{g_{n+1}(x) - g_n(x)}{g_n(x) - g_{n-1}(x)} = \frac{x^{n+1} - \sum_{k=0}^n x^k - x^n + \sum_{k=0}^{n-1} x^k}{x^n - \sum_{k=0}^{n-1} x^k - x^{n-1} + \sum_{k=0}^{n-2} x^k}$$
$$= \frac{x^{n+1}(x-2)}{x^n(x-2)} \equiv x,$$

for all  $x \neq 0, 2$ .

(2) Let  $n \ge 2$ . We have

$$\lim_{n \to \infty} \frac{g_{n+1}(x)}{g_n(x)} = \lim_{n \to \infty} \frac{x^{n+1} - \sum_{k=0}^n x^k}{x^n - \sum_{k=0}^{n-1} x^k} = x,$$

for all  $x \neq 0, 2$ .

(3) Let  $n \geq 3$ . We have

$$g_{n+1}(x) + xg_{n-1}(x) = x^{n+1} - \sum_{k=0}^{n} x^k + x(x^{n-1} - \sum_{k=0}^{n-2} x^k)$$
$$= x^{n+1} - \sum_{k=0}^{n} x^k + x^n - \sum_{k=0}^{n-2} x^{k+1}$$
$$= (x+1)g_n(x).$$

(4) It is easy to see.

**Lemma 2.4.** Let  $n \geq 2$  be a natural number and  $g_n$  be the golden polynomial.

(1) If n is an odd number, then (see Figure ??, part A),

$$\begin{cases} g_{n+1}(x) > g_n(x) & x > 2 \text{ or } x < 0 \\ g_{n+1}(x) < g_n(x) & 0 < x < 2 \end{cases},$$

and if n is an even number, then (see Figure ??, part B)

$$\begin{cases} g_{n+1}(x) > g_n(x) & x > 2\\ g_{n+1}(x) < g_n(x) & x < 2 \end{cases}.$$

(2) If  $n \ge 2$ , then  $g_{n+2}(x) - g_n(x) = x^n g_1(x)$ .

(3) If n is an odd number, then (see Figure ??, part C)

$$\begin{cases} g_{n+2}(x) < g_n(x) & x < -1 \text{ or } 0 < x < 2\\ g_{n+2}(x) > g_n(x) & -1 < x < 0 \text{ or } x > 2 \end{cases},$$

and if n is an even number, then (see Figure ??, part D)

$$\left\{ \begin{array}{ll} g_{n+2}(x) < g_n(x) & -1 < x < 2 \\ g_{n+2}(x) > g_n(x) & x < -1 \ or \ x > 2 \end{array} \right. .$$



FIGURE 2. compare  $g_n$ ,  $g_{n+1}$  and  $g_n$ ,  $g_{n+2}$ 

*Proof.* (1) Statement (1) is trivial because  $g_{n+1}(x) - g_n(x) = x^{n+1}(x - 2)$ .

(2) Let  $n \ge 2$  be a natural numer.

$$g_{n+2}(x) - g_n(x) = x^{n+2} - \sum_{k=0}^{n+1} x^k - x^n + \sum_{k=0}^{n-1} x^k$$
$$= x^{n+2} - x^{n+1} - 2x^n = x^n g_1(x).$$

(3) Statement (3) is trivial because  $g_{n+2}(x) - g_n(x) = x^n(x^2 - x - 1)$ .

The sequence  $\{\phi_n\}_n$  is a bounded and increasing sequence.

*Proof.* Since  $\frac{2n}{n+1} < \phi_n < 2$  and  $G_n(x)$  is an increasing function on the interval  $(\frac{2n}{n+1}, 2)$  and  $G_{n+1}(x) < G_n(x)$ , so  $\phi_n < \phi_{n+1} < 2$ .

**Lemma 2.5.** The number  $\phi_n$  is an irrational number,  $\forall n \geq 2$ 

*Proof.* Let  $\phi_n = \frac{p_n}{q_n}$ ,  $(p_n, q_n) = 1$ . Therefore

$$(\frac{p_n}{q_n})^n - \sum_{k=0}^{n-1} (\frac{p_n}{q_n})^k = 0.$$

 $\operatorname{So}$ 

$$(p_n)^n - \sum_{k=0}^{n-1} (p_n)^k (q_n)^{n-k} = 0$$

Hence,

$$q_n|(p_n)^n \Longrightarrow q_n|p_n \Longrightarrow q_n = 1$$

But if  $q_n = 1$ , then  $\phi_n = p_n$ , thus  $(p_n)^n - \sum_{k=0}^{n-1} (p_n)^k = 0$ , this means that  $p_n|1$  or  $p_n = 1$  which is a contradiction.

**Theorem 2.6.** If  $\{F_k\}_{k=0}^{\infty}$  is a sequence of positive real numbers that for every  $k \ge 1$  have

$$F_{k+n} = F_{k+n-1} + F_{k+n-2} + \dots + F_k,$$
(2.1)

then

$$\lim_{k \to \infty} \frac{F_{k+1}}{F_k} = \phi_n.$$

*Proof.* Let  $\lim_{k\to\infty} \frac{F_{k+1}}{F_k} = a$ . Since  $F_{k+n} = F_{k+n-1} + F_{k+n-2} + \ldots + F_k$ , so

$$\frac{F_{k+n}}{F_k} = \frac{F_{k+n-1}}{F_k} + \frac{F_{k+n-2}}{F_k} + \dots + \frac{F_k}{F_k}$$

Thus,

$$\frac{F_{k+n}}{F_{k+n-1}} \times \frac{F_{k+n-1}}{F_{k+n-2}} \times \ldots \times \frac{F_{k+1}}{F_k} = \frac{F_{k+n-1}}{F_{k+n-2}} \times \frac{F_{k+n-2}}{F_{k+n-3}} \times \ldots \times \frac{F_{k+1}}{F_k} + \ldots + \frac{F_k}{F_k},$$
  
therefore if  $k \to \infty$ , then  $a^n = a^{n-1} + \ldots + a + 1$ . Since  $\phi_n$  is uniqe, so  
 $a = \phi_n.$ 

Theorems ?? and Remark ?? (5) yield the following theorem.

**Theorem 2.7.** Let  $F : \mathbb{N} \times \mathbb{N}_0 \longrightarrow \mathbb{R}_{\geq 0}$  be a function such that

$$F(k,n) = F(k,n-1) + F(k,n-2) + \ldots + F(k,0),$$

for every  $k \in \mathbb{N}$  and  $n \in \mathbb{N}_0$ , then

$$\lim_{n \to \infty} \lim_{k \to \infty} \frac{F(k+1,n)}{F(k,n)} = 2.$$

*Proof.* It follows from Theorem ?? and Remark ??.

**Theorem 2.8.** Suppose that  $b_0$  and  $b_N$  are two fixed complex numbers. Then there is not polynomial with the complex coefficients p(z) such that  $g_3(z)p(z) \equiv b_N z^N + b_0$ .

Proof. Let 
$$p(z) = \sum_{k=0}^{n} a_k z^k$$
,  $a_n \neq 0$ ,  $N = n + 3$  and  
 $q(z) = p(z)(z^3 - z^2 - z - 1) = b_N z^N + b_0.$ 

Therefore,  $q'(z) = Nb_N z^{N-1}$  and

$$z|q^{(m)}(z) \tag{2.2}$$

for every  $1 \le m \le n+2$ . On the other hand we have

$$q'(z) = (3z^2 - 2z - 1)p(z) + (z^3 - z^2 - z - 1)p'(z)$$
(2.3)

$$q''(z) = (6z - 2)p(z) + 2(3z^2 - 2z - 1)p'(z) + (z^3 - z^2 - z - 1)p''(z).$$
(2.4)

Also we have

$$q^{(m)}(z) = m(m-1)(m-2)p^{(m-3)}(z) + \frac{m(m-1)}{2}(6z-2)p^{(m-2)}(z)$$

$$+ m(3z^2 - 2z - 1)p^{(m-1)}(z) + (z^3 - z^2 - z - 1)p^{(m)}(z)$$
(2.5)

for every  $3 \le m \le n$ , and

$$q^{(n+1)}(z) = (n+1)n(n-1)p^{(n-2)}(z) + \frac{(n+1)n}{2}(6z-2)p^{(n-1)}(z)$$

$$+ (n+1)(3z^2 - 2z - 1)p^{(n)}(z),$$
(2.6)

$$q^{(n+2)}(z) = (n+2)(n+1)np^{(n-1)}(z) + \frac{(n+2)(n+1)}{2}(6z-2)p^{(n)}(z)$$
(2.7)

and

$$q^{(n+3)}(z) = (n+3)(n+2)(n+1)p^{(n)}(z).$$
(2.8)

By the using of (??), have  $z|q^{(m)}(z)$  for all  $1 \le m \le n+2$ , and by the use of (??) we have

$$-a_0 - a_1 = 0 \Longrightarrow a_1 = -a_0. \tag{2.9}$$

By the using of (??), we have

$$-2a_0 - 2a_1 - 2a_2 = 0 \xrightarrow{a_1 = -a_0} a_2 = 0, a_1 = -a_0.$$
(2.10)

So  $n \neq 2$ . Now, we consider two cases: Case 1: Let n = 1. In this case  $p(z) = a_1 z - a_1$  and

$$(z^3 - z^2 - z - 1)(a_1z - a_1) = b_4z^4 + b_0.$$

So,

$$(z^{3} - z^{2} - z - 1)(a_{1}z - a_{1}) = a_{1}(z^{4} - 2z^{3} + 1),$$

and

$$a_1(z^4 - 2z^3 + 1) = b_4 z^4 + b_0,$$

which is a contradiction.

Case 2: Let  $n \ge 3$ . By the using of (??), we get

$$m(m-1)(m-2)(m-3)!a_{m-3} + \frac{m(m-1)}{2}(-2)(m-2)!a_{m-2} + m(-1)(m-1)!a_{m-1} - m!a_m = 0,$$

for every  $3 \le m \le n$ . So,

$$m!a_{m-3} - m!a_{m-2} - m!a_{m-1} - m!a_m = 0.$$

Hence,

$$a_m = a_{m-3} - a_{m-2} - a_{m-1}, (2.11)$$

for every  $3 \le m \le n$ , and by the use of (??) we have

$$(n+1)n(n-1)(n-2)!a_{n-2} + \frac{n(n+1)}{2}(-2)(n-1)!a_{n-1} - (n+1)n!a_n = 0.$$

Thus,

$$a_n = a_{n-2} - a_{n-1}. (2.12)$$

Also by the use of (??) have

$$(n+2)(n+1)n(n-1)!a_{n-1} + \frac{(n+2)(n+1)}{2}(-2)n!a_n = 0$$

or

$$a_n = a_{n-1}.$$
 (2.13)

Finally from Relations (??), (??), (??) we conclude that the coefficients  $a_2, a_3, ..., a_n$  are the multiple of each others. Since  $a_2 = 0$ ,  $a_2 = a_3 = ... = a_n = 0$ , which is a contradiction.

## References

- M. Fréchet, Une definition fonctionelle des polynomes, Nouv. Ann. 9 (1909), 145-162.
- [2] G. Keller and F. R. Own., Counting polynomial functions (modp"), Duke Math. J. 35 (1968), 835-838.
- [3] W. Prager, J. Schwaiger, Generalized polynomials in one and in several variables, *Math. Pannon.* **20** (2) (2009), 189-208.
- [1] Y. Sayyari, Remarks on uniformly convexity with applications in A-G-H inequality and entropy, *int. j. nonlin. analys. appl. (2022).*
- [4] J. Schwaiger, W. Prager: Polynomials in additive functions and generalized polynomials. Demonstr. Math. **41** (3) (2008), 589-613.